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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A Ji.r S —|—2Y

Q.1 Questions /=il A B c -
1. just above the Earth’s surfac?e ‘iS' ) VU//.,.”J)LLKJW ﬁy e /?/ L ky 77 /lfv ¥ /
' Mesosphere | Stratosphere |Thermosphere| Troposphere
te dntbozrd et Lo s s S
2. IThe reduction of alkyl halides takes place in the presence Zn/HCl Na/HCl Mg/ HCI cu/HC)
of: |
% ?‘giﬁu&dl;w;f ;.utéfzf) ¥¢ 4 s N -
" |Which one of the given is a disaccharide? Glitoas Fructose P o
5 94.3)46;%%"551&&%—_@%@@”9,] A s B b Cts Do/ ts
" INight blindness is because of the deficiency of: Vitaenin A <3 inE — T~
ol 2 (D
e ed £6E s Lo T o O\/
5- s . - . o A S 2= H SO; H S O:
Which ion is the conjugate base of sulphuric acid? <& )
L(
(Continued / PTO) v/ TR
92
) 2
Questions /=iy ~A\ ¢ A B c D
uestio! -
= U ’
' i Coal Coal gas
" Pitch is black residue of: Coke Coaltar
‘ <>
r spudsule s e BF3 He AICI3
7. ) .
Which one of the given is a Lewis base? .
-%L&Q:’lﬁ—fwdjc@/».{! SIAMP L
N,+3H, == 2NH; K=2.86 mol? dm®
szfgg:/{f:ﬁ,dﬁ NH3 N2, H2, NH3 N2, H2 Ha
8. Nitrogen and hydrogen were reacted together to make
ammonia. N~
N,+3H; == 2NH; K=2.86 mor“dm~
V\;hat \ivill be present irc1 the equilibrium mixture? : - = e
?r,cﬁuwf“:,dwu:‘/' S eSOy Ay Fuisr QL2 4 k |u
‘ I . . . . vc ime
& Permanent hardness of water is removed by adding: Nay-Zeolite Soda lime Lime water Qui
o £ (matte)22|  CuS. Fes FeO s Cu;0 | FeSusi CuS | FeOus Cus
; ‘ O | CusS and FeS | CuS and FeO
= Matte is a mixture of: ' FeSand Cus | Cuy0 and Fe 2 Jf
?c‘;t‘m.ﬁ—.’.lﬂ'—,?u,/&gﬁj‘ﬁgu"(b 04503 u’fC02 JZSOZ *NO2
- Normally rain water is weakly acidic because of: SO gas CO; gas SO, gas NO; gas
w P 1 - 1 -l SRS
e A A20gK | 421K 24k gt K1 | 2418 K
- specific heat capacity of water is:
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Notc:~ Section B is compuisory. Attempt any TWO (2) questions from Section C., 2 &;lzﬁuﬁrm;.df :..uif’ Y P S I 1.0 2,

St~ —2Y SECTION-B p4ddiaa
E g A Lanble S 2

2. Write short answers to any FIVE parts. (5x2=10)
; What is the relationship between active mass and rate of reaction? ?41-,0”7 yu:.k,l.cff!dm!u Liff.i
il. Write equilibrium constant expression for the given % :
i R A A5 L L 2NOxg, = NoOugr s s i

reaction: 2NOy =2 NyOag

iii. What is an ester group? Write down the formula of ethyl acetate. w1 U)’JW-‘*;':.’:'JV-“'Q.U/ -,—J; A4

LSl
R VAN S IR
L rnl KPS b a2t 2y G vi

S b UL TS ST L7 0 i

saZtf i (paraffing) 715 :(alkanes)ﬁq.viii

iv. Write down names of four types of coal,

v. Write down dot and cross formulas of: (i) Propane (ii) n-Butane
vi. Write down chemical formulas of formaldehyde and acetaldehyde.
vil. Why are hydrocarbons considered as parent organic compounds?

viii. Why are alkanes called paraffins?

3. Wrile short answers to any FIVE parts. (6x2=10) ..éé; el & [_;ls!!étbél E
i. Write down the names of mineral acids. -&(rtﬁi‘wd/’.i
s bt 10

ii. How are the salls named?

iil. Name the acids present In: (a) vinegar (b) citrus fruit

LU S s (a): L ik snr e s li

iv. Whatis the function of DNA? Y;-L/cfg §DNA.iv

v. How are proteins formed? ?wz'f,—-{%'ﬁ«;.v
vi. Differentiate between soft and hard waler. i A 2y v
(L1

(Continued, PTO)

: : - - . P
LAl b ey e i

vii. Why are pesticides used”? \(\O
viii. Define water borno discases. O%%% ‘ -i‘—f:'-.-*l',fTJ’u:xbdhL :fhr,e-—-,ﬂb(t-}';.viii
-ég/’..-.w}g[,.uf&g;.df 4

4.  Write short answers to any FIVE parts. @
% i L i gt i e |

i. Justify. Ozone is beneficial for human kind.

ii. CO, is responsible for healing up atmosph ‘uj—-d“"urfi.!g('a /’?/'f’f"y": €O i
-Z:f_fc}_l(.:.-l/‘lm’./..‘i”;.iil
IR S S
Al f TSPy

Ce Uiy I ger i

te el S v A

-2’:..4'/7;!1' ARV

i Write down two effects of SO,.

iv. Differentiate between pollutant taminanls.

v. Write down names of th metallurgical operations.

vi. What is the principle of-Solvays’ Process?

vii. How is petroleum extracted?
viii. Define anode mud.
SECTION-C ggmasn
Note: Attempt any TWO guestions. Each question carries 9 marks. - /iLdly ,,-,:f_-f ,..-,LML..-;Mr»adﬁw‘
5 (a) Define an acid and a base according to Bronsted-Lowry concept ) w‘»‘o:f’cf:/_é'/-j‘_,:!,,;gn\}w.fj,P"Jd_:/»,: (M .5
and justify with examples that water is an amphoteric compound. - Fi Ny -f'b‘i-"éfl: o
(4 L FNF LR LANE Y (D)

e e L S P T "
.:{.‘-..:-»“.xn\).,':ﬁfe.d..i,.u:rV‘Mg.(_,;}.’.é.f/gﬂ’Lg (1) .6

{(b) Write down the macroscopic characteristics of dynamic equilibrium.
& (a) Define hard water. Explain the methods of removing
(1+2+42)

temporary hardness.
{n) What is vitamin? Give the importance of vitamins. (1+3) -és'-‘?-éﬁ"‘dl'/"“-"?-,’—?rff’ (o}
7 (a) How s fractional distillation of pelroleum carried out? (5 ?{-jéJb)fﬁi -.}""-’,5 JAiz (o 7
ib) Explain physical properties of alkanes. 4) izt & J(akanes 2 ()
117-224-1A-3500U

Ao o



Chemistry Eroupzz“" |

Marks:12  Time:15 Minutes Paper -ll  Objective (iii)

SSC (10*)1°*Annual 2024

Code| 7

4

8|6

(i) &»

-

":,g/,

21500y 12/

Jr.

B S VI M I L e ne S tpsel Ly 1436012t & 29D 4 C,B,A Mz Ml ldirs *
K Ali.,aljfw( ISy J 1/ /;/ ..‘/4.4_/ j,f u;fbu!._);ugl

Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill thalt circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A (e  SLIL—22Y
Q.1 Questions /= l¥ , A B C D
1, - "au""{“‘{‘u"ng 42klgtk? 42)gtK? 24Kk gtk | 2.4)g'K?
Specific heat capacity of water is:
i te b frativofa kb e AL co'ts D ts B/t
" |Which one of the given vitamins is water soluble? Vitamin A Vitamin C Vitamin D Vitamin E
"‘LerJ(DNA JRNA/“/: J/"EJ L{U’?‘/;fw/( J/.;d,ug:g}:
3. IDNA is a type of: MesRs':.rzger Vitamins | Carbohydrates| Nucleic acid:
1 v S5 T LS e K Lol Srsubinrdtg k) SH #ly S S, S
' Acid rain affects the aquatic life by clogging fish gills because of: |  Lead metal | \iim metal Mercury metal {Aluminium met
S
¢ 276§ HPOS™ <>Q) ) )
5 0’@\ H,PO, ™ H,PO, H,PO,
The conjugate acid of HPO? ~ is: (/87% -
1\
N 7z bl .= 2 ’
1P natene.nd ] v
2
e Questions /=iy A o A B C D
6. el QR LA oy HCl CHsCOOH |  NHs
According to Arrhenius concept, /& is-a base.
x e = 7 - ;
7. Qﬁé‘f“’ sz it . oy Er oy,
Main component of natural gas is: Methane Propane Butane Propene
& e AP polent e JTurd STz S ik
Which one of the given is not a fraction of petroleum? Kerosene oil Diesel oil Alcohol Petrol
-c‘:_,o;JLnJILJ{M/J.J@J;JJ":JL:; s ».:ﬁrzd/CaC03 Jf'/ g
) CaCO:.(S) — CaO(S) +CO2(g) Y% - (G/u L§ Ca0 Enlo §CO,| (4:6Ca0
In the lime kiln, the reaction CaCO, ~— cao(5)+C02® goey  of high E?;?b:fa Than | COxescapes | CaO is not
to completion because: temperature CaCOs cont!nuously disassociated
‘-’,LG‘C s ll s c‘-ff"%ﬂ,ﬂfd/l& Sufedtuih ¢ Y b - _
10.\Which one of the given diseases causes severe diarrhea Jaun d". fl ’ : T J:h id ChMT
N —— ice uorosis yphoi olera
b e byl e 2T A £ KMnOad(Ethene) 22| 2 di T ST VAT B VATEY,
|Oxidation of ethene with KMnOa produces: Oxalic acid Glyoxal Ethane glycol |Propene glycol
5 +Gf¢»gdzzbgd( cdi&rﬁdffg%wﬁfuiﬂcytfcp}d .:.:ni*(.'f <z /‘v’t(:&( <2y ,Kf:.‘:r < Vil (:‘..;
Buildings are being damaged by acid rain because it attacks:  |Calcium sulphate| Calcium nitrate |Calcium carbonate Calcium oxalate
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viti. What is the difference between slag and matle?

V.

Notei= Section B is compulsory. Attempt any TWO (2) questions from Section . 24 .:,U;tﬁu.n’lruc.af ;..Jf ¥ & -G I 2 )

QL)Y SECTION-B pgisdd

Write short answers to any FIVE parts. (5x2=10)

o peyr S Lt 2

_ Write down two properties of irreversible reactions. -a‘.’.:.y,i uJ /‘-c ;J_’-’ VIOVR]
. Define chemical equilibrium state. rf_,u/;r(c_,;)hfg,.{,{fﬂ.n
-.z.’.:ﬂb%,é./-’ 3ol il
te (ot LIS ei meZdotinad v L iv
2 .:.&.rtw-c;.gf';/"’gf Ji'igf JﬁT&ﬁrd/h,v

. Wrile down two uses of natural gas.

How can a sniffing dog recognize the specific smell of human sweat and blood?

. OQur exislence owes lo organic compounds. Give two reasons.

i, Give reasons why carbon shows catenation but silicon does not? ‘-'J/gd;ut’._kd-a 93/. Al G Nl S i

teaur 21 (alkenes) "ﬁ(f.\lil'

. Why are alkenes reaclive?
te bbbl wie U e UX i

. Why bananas are stored away from the rest of the fruits?

Write short answers to any FIVE parts. (5x2=10) .éé( vd au:’-/"y L"’"ék—éf -3
i. Name the types of salls. -C-(LJ'L(J‘JH
. Define pH. What is the pH of pure water? ?Q-E{PHJJW’J “*évi‘/?t{l’“-ﬁ
. Why H" ion acts as a Lewis Acid? ?.;..r)’(ﬂn"&lz'u Ao TH il
. Why RNA is calied a messenger? St UL L RNA iy
. How is gelatin obtained? E‘e‘:—b’?k@'bé‘f".-".v
i. Whatis an industrial waste? \'c,'-y’-‘/.tuﬁ/"f'.vi
linued, PTO) (Lidme i)

Q)

(2) @i/

Which bacteria causes the Cholera? /.g\o ""::—E,:"gl(b';-ﬁ' ¥ il

Which salts are responsible for hardness ot water? 0%(&\&/ "'93:’-".--.—."*1!’.L&/"!u’;'lr:-—u'!f.vni
=@ B i P Ll 4

- g o 1 -
Why does temperature decrease in tropusphere? @ Yed ,»:;[.J.v: ,gnﬁufﬁ.*gu i

@ f'&&;rf,;u‘urﬂr\,’:-‘-',»""-&:-,-"E'.ll
w ;
SO\ Yo ez Aot L 255 p i

NP B NS & ;
tednivg sbdia ofikliv

Write short answers to any FIVE parts.

Why are the flood risks increasing?

How is Ozone layer formed in stralosph
How is aquatic life affected by aci
Q‘"r@ .e..'é_rﬁmrt[.;,,i,.-.ﬁx,s,v

; : T [ &/Lfv J;( "
What is the principle of fractional distillation? ‘.‘.;__\/ufl(u AR TR
Write down the names of two chemicals that are used in our daily life. -a:.‘-f),f;cﬁ '/‘Z/-’n"_lu'_ xf'.,,‘v:"ld:\fihf;uJJK,vii
e Jip Ll L i

wo ores of copper.

‘Write down names and fo

SECTION-C g mider
Note: Attempt any TWO questions. Each question carries 9 marks. LALLM ne s
5. (a) Define a salt and give the characteristic properties of salls. (5) -Z:L-,'L:.:_u#"ﬁ'fu’”bwfé—é‘/?dﬁv (D .5
. , . Ny bl SR T AR PN
(b) Define equilibrium constant. Determine its units for the given @ SRR Vo e VL, SV
reaction, Ny*3H, == 2NH; N,+3H, = 2NHs v g e if
§ (a) Write down five effects of water pollution. (5) -2,{4j-:-'5'§';£aﬁé.»"’ (1) 6
(b) Write down four sources and uses of lipids. 4) S F el (L)

7 ta) Whatis the principle of Solvay's Process? Write down

th

(5) -2-.—'(4,;;'}'-}-‘: v/";uf'?‘??“‘vl"‘)uk”l;gv/ "L_o'-'"" (¥ 7

AN (r

advanlages of this process alse.
g ey A 2 (Alkanes) v (L)

118~224~1A-26000 *
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Note: ~You haVe four choices for each objective type question as A, B, C and D. The choice which you think is corract, fill that circle In front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A (il»)

Q1 Questions /= 1iv & B c : D
1. ?:r,‘raf&s lWie U Ea ¥ ¥ Y &l
Which of the given is a disaccharide? Glucose * |  Fructose Sucrose Starch
2 -/ S s STibs S BTN | AT 10%%&5 J fD‘f xfg’i‘lﬁg’j N
Water dissolves non-ionic compound by: gﬁ?—igr': forces i Gl Hydrogen bonding
Sh ol S Tiruk | P, | widlust, | LTSS, | b BILus,
Y s 'y A=z rddl
3. It paralyses the It damages
Carbon monoxide Is harmful to us because: lungs lungs tissues ¥ d duf:;f; o . ma::l;easgtlt::tt;lood

/S
Q&&awmg ability of

-\ <{ haemoglobin
A s S T S~ y
S bt 23S TV fe e /\\\8
4. | Which one of the given organic compounds is Gy Q\{}\ 3Hy . GgHyg CiaHoe
found in gasoline? N i ;
| > g
5. | -sG e Sl 4@%“ 42Jg7 'k | 24KJg7 'K 2.4Jg7 k!
Specific heat capacity of water Is: (Q ;
bhetd o bls /7 NGHC Q503 P |
8. B 1O . y co, r Ca:(OH)2 CaCO;, CaO
When NaHCO; is heated itforms: "\

‘q—ufj v('(}fc_uf-a&'f" [{\@@R@ﬁ 4 ul-”tf‘{ 04" o ...F‘_}:‘é L!! . &,uz_-,_. y J,l%dju:uf
Z—LU:fU'.j"ILSJ é S fj—’dkuﬁujf:/,

ALngnd i
7- | The characteristics of reversible reactions are Products never They never They proceed in | They have a double
many, except one of the given: recombine to complete both ways arrow between
: form reactants ' reactants and
products
8. -4-pOH(S #0.02 ML Ca(OH): 1.698 1.397 12.31 12,61
The pOH of a 0.02M Ca(0H)zls:
-4-;1)/502503')/&7}!) Kf;{ﬂ?é)”f U‘fwl{_ﬁl!é}f Vdméf'/ . K&!{(ﬂi!}é%/
9. | The water of erystallization is responsible for Melting points Boliling points Shapes of crystals Transition point
the: of crystals of crystals of crystals
0 Sz rUi S 99k UL A #30 - #35 e#15 st
" | About99% atmosphere’s mass lies within: 30 Kilo metres 35 Kilo metres 15 Kilo metres 11 Kilo metres
& ol | EHG | Pl | Pl | A
11. 4411t ¥ (Substitution) Lot Halogenation of | Halogenation of | Halogenationof | Bromination of
One of the given is a substitution reaction: alkynes qikonas alkenes silkanas
12 b szt L K 390U KIS . anf 2 S
" | Coal having90 % carbon content is called: Peat Lignite Anthracite Bituminous

aam 992 1241000 * %% %
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Note: - Section B is compulsory. Attempt any two (2) questions from Section C.
(SECTION-B (5.»)

2. Write short answers to any five parts. (5x2=10)
i. How is dynamic equilibrium established?
ii.  Write equilibrium constant expression for
: COy+3H, o =CH, o +HQ,

the given reaction.

iii. What is an ester group? Write down formula of Ethyl Acetate.

iv. Explain different radicals of propane?

v. Whatis ammonical liquor? Give its use.

vi. Define aromatic compounds? Give an example also.

-’cgwpzﬁu;‘lru:_tjf c.‘ﬂf'r,ﬁ-t,'.dwrndﬂ d

e F Lk s 2
S bafbial g JSE LS i
LSS A pshid LSistas

&

iy WA s s/ i
_éwwéﬁ&;wg Lty v
ey Al v
&y Lﬁd!ﬁb{l?éﬁy ¥l é]ﬁigf Lray i

L7 NL o IS r B o

vii. Define unsaturated hydrocarbons with examples? il
vill. Why alkenes are called olefins? tebblf U S (Alkenes)sisg  vili
3. Write short answers to any five parts.  (5x2=10) ,ézf" iz delék‘:.(}f - .3
I.  What s indicator? | 4 tg-brls kA
ii. Define:(a) Normal Salt (b) Basic Salt d@@@ Sk () _éé_y A
iil. Whatis pH scale? Sl ol 4()36 pH il

' <&
iv. What is the function of vitamin A and B? Oﬁ&ﬁ/\
v. Why excessive use of vitamin D is harmful? ( @

vi. Deflne Scum and Leaching process.

T

e B IAA S v
S U IS ¥ D St
E U s R

i

vii, Write the difference between temporary and perm@k/ 'é v /d )U:lf" ey J,,‘ﬁ.’ g A) il
hardness of water? & O
vili.  Which forces are responsible for dissol ar substances in water? ?uz&'f-.r.grb’i./ o u.'.&gf_-,y PR ,}Uj r .vmq(
4.  Write short answers to any five p (5x2=10) -é{ Pz L,I:Zlé&g.(}f 4
i. Differentiate between primary and-secondary air pollutants. -éd )uf-ﬁ AEIEMSf14L0n i
ii. Write the major sources of CO and CO, emission. _é] f;rﬁiéé/l/'lé CO,4CO .
iii. How is CO, responsible for heating up atmosphere? ?4—@'54/ aslfd S r-f 17 Cco, i
iv. How does acid raln increase the acidity of soil? ?4_(31’ .swu:oi Méwfdb }‘f Lt v

v. Write the names of various metallurgical operations.

vi. How roasting is carried out?

CBaLpasps
?4_(3(,6[,)J( Ly i
-Zédkd)uﬂikdlbﬂ

vii. Diliferentiate-between ores and minerals. il
viil. What is the principle of Solvay’s process? ?4_(,/ dflk;fr s4eIl il
SECTION - C (Each question carries nine 09 Marks) (U #JL iy 7)fy ..o
5. (a) Write in detail the methods of removing temporary hardness ()] el )LL) 4 fu’fm&/,’dc’}g ) .5

‘of water. -2
(b) State Law of Mass Action and derive the expression for vafuj;d ,‘h.flulé ug«f-’c Vbl ()
equilibrium constant for a general reaction. @ _aémﬁ /,4-4.‘)) it /.-'d:glc_"_
6. (a) Write the advantages of Solvay’s process. () -é; il o4 il (W) 6
(b) Explain the various types of Hydrocarbons. @ .évw(f(l}laﬁ‘ Jﬂzb’u&’k (&)
7. (a) lustrate two concepts of acids and bases with examples. (2.5+2.5) Py (‘: bc..u:‘@'ag)".»‘ﬁ)f} Sk (o) 7
(b) Write sources and uses of Lipids. -ﬂwuw’éd'”"/ wl iy ()

Al @

117-223-1A-41000
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Note: - You have tour choices (or

Roll No. L |

j (/. .z,,i,iu,/b

*-.....)/....\_frl.fzﬁfo/l.:d‘br L—v'! ._/u:_u'uul.-cf.c..:c‘_b'ﬁ..,)lrfltéb’dli-gﬂécp)b 28 C,

¥

B, Au“!j-’h&db’/ -t

NG I AT N S NN S B g 2N S Uibme

each Ubj@(.llvu type queslion as A, B, C ard D. The cholce-which you think Is correct, fill
question nurnber 10 your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles

(S%CTION—:A Jil.o)

that circle in front of that
will result no mark,

Q1 l Queg;_;_ians / Ziy i a B c D
B . | -
L @ S U i FU e S g | iudy Al L S
. Which one acid is found in apples: Uric acid Formic acid Malic acid Stearic acid
¥ e e s e e !-_..__.
- , ) L a.éf.é../ ¥C02 | L/ kezufon | L/ Sfpm 2L 0k NazCo
9 Il and LT e N & 2
In Solvay's process slaked lime is used to: Prepare CO» Prepare auick - Rec-over n———
; ammonia 2 :
Tcr&rdu;’ufgf'fééé.,f,?uanuuﬁm}u' ! ol - F
3. | Which one of the given gases is used to destroy | ' gkt Chlp‘ y Q\%) ! O
harmful bacteria in water? e " “m luorine Bromine
- £ u,( ' !
5 Yo s U"’ld/./ PT)S Fe o - o o b )
4. ‘ Which one of the gwen fractiohs is used as Jet KJ' u‘!,_‘g i J1s J Tﬂ' ]
;uep l erosene: 0 Fuel oll Petroleum oil
5 ‘J,/sz,)'ft {J_d:l ’ K@gw /’-’?.f"k ﬂ-”"/ 21
Just above the Earth's surface is: . '2(8’5 re Stratosphere Thermosphere Troposphere
\'l‘bLLJjuﬁﬂf#I%IdJ&f%L;fau: -(\ & '
8. | Which one of these pollutants is not found in co 0, NO, SO, .
exhaust fumes? |
weios ey i
7. e, L—g,g"f‘.;,JL-‘;’uL, O ey, Lkl AV By My b i
i Permanent hardness is removed by adding: Sodium zeolite Soda lime Lime water Quick lime
| ‘4.\, vddbLV < mi,uxd Pl d o~
8. | with which dehydration of alcohols can be-carried NaOH KOH H,S0, Ci
out? .
9. Yo Mol e SO oy oy oy | cH,-cooH | cH,cHO CH,COCH,
Which one of the given compounds Is an aldehyde? : :
g ._.Qyuk u,dwz‘-/s-—.{.suft’»f
-10. | peficiency of which vitamin is cause of night Vitamin A ¢/t VitaminE ks | VitaminC /'t | Vitamin D o/t
biindness? ' - ‘
5. | vt wd et d o HEI H,S0, HNO, H,CO;
thch one is not mineral acid? :
7 .-/uc/-gﬁvl;y fg_,!d;&guié.d’.p?gud,é;g, i
.2 *'B(w =13C,,, [2A](B} (AF(B) [3¢] JEL
K ! For the given reaction ’u\‘ B =30 3¢ [y [2A](B] [AY(B]
' which expression for the equnlibnum conatant cs
. correct. A ’ i ' L
o I /f, i 118~223-1A-34000 * % %k K



Chemistry . ' SSC (10") 1** Annual 2023 N

Time  : 1:45 Hours ll Group : 11 ' Paper (D 2% I/t ..r.of s
Merks ia8 sueatve 81 Qb X2S  a: .
Nute: - Section B is cumpulséry. Atterupt uny lwu (2) ques'lio'u-s trom Section C. | -I; .agﬁ,zLu,’lrug,éfg.gﬁf'ré_gdwrny i

_ (SECTION-B (1_») :
2. Write short answers to any fivd parts. _ (5x2=10) ‘ _54,”@9.7!/'3&.!;5!@&:;&! :
i. How direction of a reaction can be predipted’? ?4.3" M{f dﬁﬁ'd:/ JJ-{IGJ A
ii. Write two properties of reverse reaction. ' ‘.';a .:.Laf*mfcffld,u‘m M
1. Write molecular formulae of methane and plehlane: cf&.f;b} rQLL(Pentane)u"r )!(Methane)uj’ il
9. VWhatis catenation? ] ?4—!?\?‘0'[ dv
v.  Draw structural tormulae of two heterocyclic compounds. ‘ ‘ _Z_‘,L;’JGJ/.,(}L;ﬁiy/...@_ﬂu;fn v
vi. Define vital lorce theory. Uy 7 : ' _éqﬁddijgf;}frbv VI

vii. How mustard éas is prepared? \lNﬁere it még{ be used? ‘ ?q.(jj’ﬁdu;lu({g:lq.ﬁ%c,{wri}j Vil

viii. Why bananas are stored away from rest of fruits? Tq,b'ybf.«u:!mc;u:‘fa./»fuif ik
3. Write short answers to ény five parts. ' (5x2=10) _é{ Al /,.-? :f—plzlé&c.éf a

i Give the general f_érmula'e of saturaled and unsaturated Hydrocarbons. -é4/¢x,sd,'z£.y-.,n,;,-u:_;,;fui,,fz,f-’\ Jd

o Why are Alkenes reaclive? r(ld;(Alkenes)J.iigl i

; , A{A—nu:’
w. Dehlne drip system l </</\ éJ)‘;JH‘./-J“ i

v What s meant by accessory growth tactors? Q Tl p V‘:—J/dilf‘;ymu’ Jiv

v. What do you knaw about denaturing of protein? S @\ A "—-Hf-rrtf/f—é-/di«-/ww 3, WV
: ¢ Qs

vi. What is meant by atmosphere? : % i‘q.;l/l_,fc.ﬁ"/l i

vii.  Write two effects of global wdrming.‘ %S ' Jé(/a!)lué-&audb‘- il

viii. How is acid rain produced? . ?'&‘ﬁc)Juclz' vill
- 0 . 4
4 Wrile short answers to any five pans. é@th) -aé;}.—.uz/&m:é&:.&f "
i Wre effects of SO, . ; g SO, .
aet .
. Differentiate between primary and sec ir pollutants. ' _z‘f;;wutu"' ALl S Ay ltn i
i, Why does 75% of the atmospheri ie within the troposphere? S bl LA (07 75 KU LA
v.  Write'two harmful etfects of CO (Carbon monoxide). ' _ .aa.-.ah.u;;w';uéco v
v. How is ammaonia prepared for the synthesis of urea? g S'q.b'leszgflé.‘Ld,y-JL,g RV
vi. Whats granulation of urea? Tl plf g™ Jg,g Vi
it Wha\ '$ electromagnelic separation? Tq.t-ﬁgfuf,g:.,@z-’;}‘:': Vi
Vil Dchnel bessemerization. -éqﬁd‘ﬁﬂ/_ﬂ' viii
SECTIO’{N' - € (Eath question carries Nine 09 Marks) (Ut /7L Jir 1) Cro=
5. (a) Hb.w polarity of water mdlecule plays its role to dissotve' 5 ;.:r,b/{guj';/j{;jd::?b&dggﬁ;fgff B (W) .5
the substances? ' i Tq,(}fm
(b) Define equilibrium constant and what is its importance - df,_ﬁJ JJ(Idwlc’irJ/JMf(/d:‘l )
in predicting extent of a reaction? : ?q.(:lc).f:u-'-(..f
5. (a) Give importance and status of urea in daily life? 8 (5) ﬁukrb»l,ﬁJM{JJﬁh/)u (W) .86
’ . Kl
(b) Why methane is called marsh gas? Give three uses of 1+3) . (Methane)f v q'.(uﬁ'u"fu/{afu‘f' -
methane and ethane. ' ; | éuLMW’IU' L (Ethane) u‘r? »
7. (a) Define a sall. Explain with Exampies how soluble salts (1+4) C,)Jfaé..—.:w:.u!b--aé..g/"é.g}b ) .7
are prepared? ! 0 4 _ fLL b Jk'JJLJ."!f
(b) What are aligosaccharides? Give their properties. ' (2+2) ", .ai‘g’.—.g-ﬁdwnuzy:}ih?» (o)

! y 4 | /\//,.r 118~223~1a~-34000



RoliNo.| | | PRI

Chemistry $.S.C (10")-A-2022 | %4
Paper : II Group: 1 Objective (s S 4 M: g4
Time : 15 Minutes ) 215 oy
Marks ! 12 PaperCode |7 |4 |8/ 1 5“"4!—'2&. 12: 4

_é.v/a_cﬂ/;tﬁ}u&bL.,.s.e:.mc.‘ﬁu,}uizg.;&védtrﬂ&@z.wi&,m A C.B AR MLy ~nd

-f,m;wvl.zuf p 19 LW JA.I{/ Y P s )'f UsZbwlie L
-Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A Jj.»)

Q1 Questions /=ty A B c D
1. 4014 i Ko A4 (el AR &
The value of Kc depends upon: Pressure Volume Temperature Density
b Htlend g Oo S i b SF NS Lair o
2 s Jfr 7 u@’ bl f
The product of Lewis acid-base reaction is called ‘lonic Covalent Metallic Coordinate
adduct. The bond between adduct specie is: ‘ covalent
| i 0
. § te-u flufe o (CH;), CHOH (Cf@m (CH3), NH | (CHj3),CHCI
Which one of the given compounds is a ketone? \\ S
sirmskido| g O(é\\)\%ﬂ C,H C,H.
4, Baade A - ’
Formula of alky! radical is: [ @ ik il -l
o>
. S cuﬁi'c_—scff'd»KL’?'EQ P A 261 it
" | Substitution reaction is the characteristics of: @) Alkanes Alkenes Alkynes None of these
6 " Jil U 2 C‘é‘ftl';_.’, Mot Ak é’uafbfl‘
" | Abond formed between two a i Peptide linkage | Covalentbond | Hydrogen bond |Glycosidic linkage
7 ‘ _4416(_{60}]}‘ U’:(T ﬁ/b’;uﬁu! L'LJ’“ (f};}’k
" | The cause of ozone depletion is: 0 CFCs Fluorine Hydrogen
?4,&‘ 5% 2 Yre oSl ;fu’i’ du:;u:” cff
8. | Which gas protect the earth surface from ultraviolet co, co N 2 O
radiations?
_QCIJJ'}I.}A}KUS?--{)/KUY! Q‘J%Hzo I"COZ COZ J)'NZ OzJJlN2 ClzJJle
9. | A group of gases that maintains temperature of | CO,and H,0 | N,andCO, N, and O, H,and Cl,
atmosphere is: - vapours
10. -0zl st Beality | No,cop | Naal(Sios), CaCOy Na, SiOy
Sodium zeolite is naturally occurring resin of:
" | Hook worm infects: Liver Small intestine | Large intestine Stomach
12 -4-btoT 4kl /S NaHCOy on co, Ca(OH), CaCO; Ca0
When NaHCO; is heated it forms:

115-222-A-45000 *



A RoII No. | CREN W)
Chemistry S.S8.C (10*)-A-2022 ‘,'f,,,!
Time  : 1:45 Hours Group :1 Paper (D 24 ﬂx:.f:f ius: S
Marks : 48 Subjective (U St ~G/-22 as: S
Note:- Section B is compulsory. Attempt any two (2) questions from Section C. -é%'lﬁuﬂfu;ﬁfa¢Fr)+dJur»x s
(SECTION-B /»_») :
2. Write short answers to any five parts. (5x2=10) E s Ll ds 2
i. Define Chemical Equilibrium State. Eope b

ii. If reaction quotient O, of a reaction is more than K, . véﬂyad‘-?ﬂu,,’m.,g;z. K, 480 &fg?ﬁg,ur.‘ifw,f A i
what will be the direction of the reaction?

iii. How coal is formed? te Bt i

iv. Why Benzene and other homologous compounds of sty J.t-sg/ Y Jﬁi,l/ J Iyt il S v
benzene are called aromatic compounds?

v. Whatis meant by term Catenation? Give an example of a ZE ,d&‘(fﬁigfuflu‘( L!;L/.ﬂﬂbb’cf.f#rvq,,} ,_p’g,“u"f@r "oy
compound that dispiays Catenation.

vi. What are heterocyclic compounds? Give an example. & Zsdedisut Vs ﬁigf s i
_vii. How do plants synthesize Carbohydrates? {(3 SR 3 P 4( d_&/ Hd Kesy i
. . S
viii. What is the function of DNA? &) N q_yufmm il
3. Write short answers to any five parts. (5x2=10) < {@/ ,é{;._-,g 7 F L Azléy <37 3

ii. How insoluble salts are prepared? Give an example.

oLt b P i

i.  Write the use of Aluminium Hydroxide. %gj% d ZJUT’IV}.{VT”,%Q E
@ 7P L KnO, § (Aikenes) i) i

iii. Write the oxidation of alkenes with KMnO, . ”/Q?
&

iv. Why alkanes are used as fuel? /@ P4 bl P10 L 2l ¥ A Alkanes) 1D iv
v. Differentiate between Ores and Minerals:\ LS (P08 25 O B P ARy
vi. Whatis the role of pine oil in fro ﬂg tion process? ?;r,bf_ e JT d&tﬁ-cf": B3 i
vii. Whatis the difference between blister copper and matte? S0 VR s ?‘ il
viii. Write the uses of fuel oil and kerosene oil. e ILSTE L TR i
4.  Write short answers to any five parts. (5x2=10) _?f; Feliz L,jggab& £ 4
i. Define Primary Pollutants and give two examples. _é',ufb- ) ,,|é_3 /5‘5‘;""') 26 /’, 4
ii. Write down two effects of SO, . -254/’ =2Ind SO, i
iii. Why does acid rain damage buildings? ?4.8/.;:‘),:! FUTNPL i
iv. Write down two éffects of Ozone depletion. _zé4 Feddnl 6L st v
v. Name two properties of water that make it an excellent solvent. _4_L.5b..y;)rd ;;.:.mé rb[..:«l_/r'; mﬂ}g RY
vi. Explain the method of removing temporary hardness of water by boiling. .é:zb:(jé’j.}[.&.ﬂmﬂ WS AL L{f{Sg Vi
vii. Why is the use of detergents increasing day by day? S lun U SUIgaeht Jéﬂ A5 Vi
viii. Define Waterborne Diseases. .é..'g .l Gupbgdbi,mﬂc..péag Viii
SECTION - C (Each question carries nine 09 Marks) (8 /L iy 1) Jvo
5. (a) Whatare vitamins? Explain the importance of vitamins,  (2+3) T L Y TR ) I
(b) Write down four macroscopic characteristics of dynamic equilibrium. ~ (4) &, 7 mi...{f/,_)’-’ Nl ASELH (L)
6. (a) Whatare salts? Give any four characteristic properties of salts. (1+4) .é/,)’ s (il les dfdu‘v st _(_{u“" L (W) _6
(b)) Write any four properties ofwater. ~— T @ T T ,ég Fales® A5 afdd!', ()
7. (a) Whatis the percentage of Nitrogen in urea? Write down _ (1+4) .é{ FeliSl Lq:gﬁb»ééd 1ALy (W) 7
. importance of urea.
__(b)_JNﬁte.ﬂown_tour.physicaLpr,épgtﬁes of Alkenes. . (C)) Af eler? 6) Jgd(Alkenes) Jﬁ )

dE9E 999 B Arfns



Roll No.
Chemistry $.S.C (10*)-A-2022
Paper : II Group : II Objective (5’ [y 4 Lo
Time : 15 Minutes (iv)
Marks : 12 PaperCode |7 |4 8| 8

(S o)

ol

62
%4
<A

I :
&~ 15 @

Swe-Gry w:

4 ‘.cﬁkf Ads JbaIPé:u'-lit:/uagﬂu:/’béég:'dbﬁdlr/;‘;éfdm.wé-z,:D #C.BA @Ui.&f&&dlf fo=nsd
Krsr? sl 20l 3 fo s LS LS ML T U s rsvie

Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think is correc, fill that circle in front of that
question number in your answer book. Use marker or pen to fiil the circles. Cutting or filling up two or more circles will resuit no mark.

(SECT ION—Ajﬂﬁ)
Q1 Questions /=i A B c D
s Qniiadut pueste §Eurts
1. Deficiency of which vitamin is cause of night Vitamin A /"¢ Vitamin E /¥ Vitamin C ¢/t Vitamin D /'t
blindness?
5 S dYSEVU fe i co co, S0; HF
Which one of the given is secondary pollutant?
N R e o N R
3 TR ARERIOTR " < bl = 2l o
. , . . Increasing | Increasing Increasing
;Z;UE;T{_S fmpbee & geling ioter concentration of @ tionof | concentrationof | concentration of
co X —€o 0 50,
1Y
4 S P e WL T el | caitgies Aoy oLz bELE
Permanent hardness is removed by adding: Sfoc\ lite Soda lime Lime water Quick lime
N
5. 42807 Ca(HC CaCO MgCO Mg SO
Temporaiy hardness is because of: NC& ( O )2 : e e
J
6. e %@géwa_u 74 §or LS i
Extraction of metal from its ores is called: = ° Metallurgy Mining Grinding All of these
-4,%1:,7&1&?'0,»
7- | Molar concentration (mole dm~>) is expressed {} () [] ¢
as:
8. e S2FLie o BF, NaCl H,0 H,CO;
One of the given is an amphoteric.
I (N) 't
9, -4—1’)’)55’%‘6}&'(/'5 CH+-CH,-OH - O ¥ ]
Formula of formaldehyde is: o Chb-al | G-l F—t=H
10. W;:q.-af 4’.’;4.,/5’0{ dum: o L -g/l s Lf,:zl
Signs of Ozone depletion were first noticed over: Antarctica America Europe Ethiopia
11. BTSN 3t FH Rkl apb
Dehydration means removal of: Water Halogen Hydrogen Nitrogen
,Qkﬂffbf (f Y jﬁ&tfuﬁ-&zrrxdmf.rf 02?/ SJ’E) S~ 2 LP‘? §F
12. | The strong heating of coal in retorts in the Fractional Sublimation Roasting Destructive
absence of airis called: distillation distillation

116-222-A-38000 K% k%



Roll No. (OB IW,)

Chemistry S.S.C (10")-A-2022 .|
Time : 145 Hours Group : I Paper (D 24 /e 7’; & 45: =5
Marks : 48 Subjective (¥ Swet-62%2 #8: A
Note:- Section B is compulsory. Attempt any two (2) questions from Section C. oz luproe He Lir oo $iippo s
(SECTION-B /:».»)
2. Write short answers fo any five parts. (5x2=10) Eijr B Lanigle (i 2
i. Write the equilibrium constant expression for the given reactions. Afﬁ ,;‘-M)) ff.’ /6:62-4 )‘54!64!_4_: o

(@) Hyyy + Ly +2H],,
® Cow +3H2(z) — CH‘(g) + H,om

ii. Why at equilibrium state reaction does not stop? y ol S U Q%I(SJJ-.-JLJ(.’ /451! |
iil. Write the formulae of the followings: Zorslds i
(a) Acetic Acid (b) Acetone JIs () Y ()

iv. How are alkyl radicals formed? Explain with an example. -é.vb;f (.—:db'?uf.zig 7"»4;‘)' g v
v. Draw the structural formulae of n-butane and isobutane. _é 1y ,( ,"ch mjf mc):' A v
vi. What are heterocyclic compounds? Give an example. Ey oL _lfjﬁjy{ s VR
vii. Write the general formula of the lipids. /Q@%) v ,Z'.’.ddnlid AN i
viii. How is gelatin obtained? @ . el S L-J fc/)‘éf' viii
3.  Write short answers to any five parts. ' (5x2=10)0 é&/\ <& é{/’ ez Ldzlﬂz-@f .3

<

S b S Ko p L NI AVASHY i

AN
ii. Write down two uses of Calcium Sulphate. %S@ P o i

i. Why H"ion acts as a Lewis acid?

& ..-A,!/?+,l/.lf4.u?5 4§ (Alkenes) /.’,JI il
iv. Write down the formulae of Glycol and Glyox 9 & ﬂrzsb'd’( 10850738 v
édgﬁi;ﬂduﬁﬂ v
rials used in Solvay’s process. 2 ALk b SrLpd a4 il i

iii. What is meant by Halogenation of alkenes? Write

v. State Carbonation of Ammonical brine.

vi. Write down the name of any two

vii. Write the names and formul o ores of Copper. ,é Lr;BuI(EL)ul »(54&’ il
viii. Write the chemical composition of Fuel oil and Diesel oil. z?u‘dz,{ ‘Pf STzt JTIA i
4. Write short answers to any five parts. (5x2=10) .é{/’ oy LM&L&(}I A
i. Write down the height of four regions of atmosphere from the level of earth. j 65‘.'4:—5 6@-’-;‘6 ﬁ';du(;é-j-.’.' A
ii. Write percentage composition of atmosphere by volume. Ef cﬁu{ A’Gﬁ’ :"4!&‘&(&: i
ili. How ozone layer is being depleted by Chlorofluorocarbons? ?q_f&'-utﬁ’é/ FS ,’-_Jdd:i;lc,r'.zif»ﬁu} i
iv. Why plants are dying day by day? Comment. ?gﬁq..m? U« u;,'u;:.:{c’é.-pli; v
v. What s the difference between hard and soft water? SO WU Lyl v
vi. Whatis leaching process? fe-l d'/ !4.-5_,.’ Vi
vii. How detergents cause depletion of Oxygen in water? YUEZL,HJ du.‘( T;.)‘-"-ag(f‘z /‘J{ vii
viii. Write down one method for removing of temporary hardness in water. # FYN(PNg ANy, ﬁ}ddg viii

SECTION - C (Each question carries Nine 09 Marks) (8 7L iv ) froo
5. (a) Describe the sources and uses of lipids. (2+3) Z ‘k;.’l Bt ;oyLJy () 5
(b) How Kc is important for predicting extent of a reaction? @ T4—ﬁldf-i—faﬁ'6u;&ﬁlwb/¢f Ke ()
6. (a) Define an acid and a base according to Bronsted-Lowry concept ~ (1+1+3) ulé_z/' éuﬁ‘uuadbéuj Bl 2e (D) 8
and justify with examples that water is an amphoteric compound. -q,}sgf ..Qf‘h.fuh/ é.—zb,c.u!b-
(b) Explain the methods of removing permanent hardness of water.  (2+2) .é..-wb:&)ﬁ- )LLL:JJ!M“;G& ()
7. (a) Describe refining or purification of Copper metal. (3+2) .é:zb:(}:(bf 4 h).éwgﬁ" 40’4;5&(&&}:9 ) 7
Also draw labelled diagram.
(b) Write any four uses of Ethene (ethylene). @ .é = lz&ééf[.(c}f (il)cf&i ()

116-222-A-38000



("7 RoltNo. | | | | | T |/atmed
Chemistry $.8.C (Part-1)-A-2021 G
Paper : I Group : | Obijective ¢ > L‘z;h,,a:/ e a4
Time : 15 Minutes (D e 15 oJ)
Marks : 12 PaperCode |7 [ 4 (8] 1 5“"‘0"2!1 12 : /

Note: -You have four choices for ¢

B A S ANMD

L zerna ik u:fl:f:?,d Ly /,'/’Q‘d'ﬁ-wéérﬂ) s C,B,A .:,guz;f Jlg[.dlr -

NPV ST NSNS 4:/ ekl 4/ UsFerlie okl

ach objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your arIswer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questi§ns 1< Ul A B C D
LK u:u"fthF.LLu 2HI-1,.sH,
-3 r ¥ 1 .
1. | For a reaction between H, and I, to fom 2HI | mol dm mol”'dm™ | mol'dm? Nounit
the units of Kc are:
; o o | S MPEG |FEET Ie S | L S S E e
Se U el e LFT Lol | TS o _
‘ t’:f;}”/g% “ ML q.t'tgyuf..:n‘g{ g,rg,y’,;w <Jl
=
2 g . y ;
Which one of the given statement is not comrect rate of reaction is| active massis | active massis active mass means
directly taken in represented by total mass of
about active mass? proportional to concen n@/\ square brackets substances
) active mass
£ ;i,a.uiftdjut_,ml,g,cb,iw &gm;)v Q/Sa st Sl
3| A reaction between an acjd and a base produces: salt and wé%é It and gas salt and acid salt and base
-
S AU e AT 7
4 : , , ,~OH | CH,-COOH CH,CHO CH,COCH,
* | Which one of the given campound is an aldehyde? <,> fo)
| ST Jiw S0 2L
o The end product' of oxidat Oxalic acid GlyCO! G'yOXa' Acetic acid
- X -
s 7L 5 P 2 .
. ?L-;;.uﬁ’j",(;ﬂ,c i u/..'ff}j‘;f A_(FJ:K'/:";}:/( (bu}g ngﬁ/ c/,’,’“u:g
' Halogenation of methane does not produce: carbon tetrachloride chloroform carbon black chloromethane
) <4_/;V@f_iéj ol e Ll Wk il iy &l
" | Which one of the given is p reducing sugar? glucose maltose sucrose starch
Cedtf el ol et SR AL T eiz2s Leite Bl i suitl e
8. | Which one of the given is not a Greenhouse effect? increasing increasing food | increasing flood | increasing sea
atmospheric chains risks level
temperature
d/éug{;u:dlf)ff_tﬁ:{ubﬁfu;‘/u_c_,,.?’Jd:JM' .:-;_P"ﬁg .‘/_/”L‘(:&( .‘.«:’11!(../-‘-; ;:m(:g
_4"..8/ _‘fg’
9.
Buildings are being damagel by acid rain because it | calcium sulphate | calcium nitrate |calcium carbonate| calcium oxalate
attacks:
S Gk Jir S 268 o ety sy o ot S
10. | Which one of the given dis%zase causes liver typhoid jaundice cholera . hepatitis
inflammation?
_c".t‘!gggj:u’/;{_u’?//'[‘/:' (/rfu'i}‘?u Zy/L;)(_‘—{cjuy’ f)’fd{‘c}ur‘ Jébf.:—,(u”r
11. In the bessemerization procgss: roasted ore is molten matte is | molten matte is | molten matte is
heated removed heated added
B P et o = 2 o e H
-“'....'Q/’b/cﬁf/fgfu’;r VL] qu s wf}ﬁ/'/’ F
12. Concentration of the copper| ore is carried out by: calcination roasting froth flotation distillation




0 o Roll No. (/357 doge)
Chemistry S.8.C (Part-l)-A-2021 6L
Time : 1:45 Hours Group: Paper (ID 24 Ut ..;,,f &ius: =,
Marks : 48 Subjective (}D’l Sw L~ ‘“-u 48 : /
Note: Section | is compulsory. Attempt any two questions from section . 27 O O 1 g e Lr02 g SilJ o LS
(Section— 1 Ji1.%)
2.  Write short answers tp any five parts. (5x2=10) -’é:z,/’ ..‘L[Jit/‘"? L leégc.df S
i. Define chemical equillbrium state. ARy NS PRI~
ii. Write down two characteristics of reversible reaction. B SN S T = TR
lil. Write down the equiliqrium constant N, +3H, = 2NH u"/(! LA d;ElL i u’{fdcha.; R
expression for the given reaction. ) L v
iv. Why H'ion acts as a |ewis acid? St 6t Lidgdusd, LT
v. Write down any two names and formulas of mineral acids. ~Z;-./4/’ L.r/lsu'rcéilr:‘ld/»;éf v
vi. Define acid and base pccording to Arrhenius concept. ’Z:/J yd Jgf"»!}/lf)’(kfe‘:”}"’. LU i
vii. Define molecular formpla with an example. Z S LerJ;QLLJ:LJB»J Vi
viil. What is functional gropp of ester? v\ ‘E"Lf“" of ‘)5’5/ 2 -Vl
3.  Write short answers tp any five parts. (5x2=10) ) (@ -é{]’ =z L i?fét‘:,éf -3
i. Why are the alkanes ¢alled paraffins? O @ <& ?u_rduf UL a2 S i
ii. Why are alkenes reactive? @% g St OIS Ssh i
jii. How are alkyl halides feduced? %S ctlb LU S i
iv. Write down two characteristics of monosaccharided’ -2";4/‘“ ayr‘; »Jjﬁjl; i v
v. Write structural formula of fructose. o) e A F ¥ v
vi. Why acid rain damages buildings? - € Bt LT Ul S UT ML A i
vii. Define Ozone. ISy il
viii. How does acid rain inqrease the’ acidity of soil? vg_d/.:wu*‘,g iJu"/L)gf(u’uHI viii
4. Write short answers t¢ any five parts. (5x2=10) YOy 4 a.’.,tziégc,éf -4
i. What is the function of fertilizers? ?f-{‘b/k(b/ uip A
ii. What do you mean by| industrial effluents? st Pl e it x i
ili. Explain fluorosis? -Z-:;:L‘»J u/ b i
iv. Define hard water? -é_.y VA J}bbp Jiv
v. How Is roasting carried out? Se oL s v
vi. Define gangue? -éJ/‘."d/ﬂ Vi
vii. How ammonia (NH,)is|prepared by Haber’s process? q.dbd/; (NH;) L-r"c—{_)’ L Ay i
viil. How NaHCO, is converted to Na,CO, ? St U NayCO, <5 NatiCO, il
Section — |l 29 5
Ekach question carrles Nine marks. (5+4=9) Tt 1L vy
5. (a) What are salts? Alst write the characteristics of salts. o s S e S () s
(b) Write the uses of atetylene. _ér:.«uw’!l,gtj&"-'-i (=)
6. (a) Define functional group. Write a note on any four _gh.,;{_;,;y’,&gf_gg_g;gv,/ﬂ (<) -6
functional group.
(b) What are polysaccharides? Give their properties. i C-‘d&“!‘; J Ui?ujg’ J}.’l; d; (<)
7. (a) Explain Greenhouse jeffect and Global warming. _gf.:ou,J.Km}}»u‘éétufgqf (W) -7

(b)

Describe any four waterborne infectious diseases.

wa_{ul,.umdﬁ:yéfdl,z.ntgg.?,d'&g (<)
e e 115-221-A-48500
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Chemistry $.S.C (Part-1I)-A-2021 $A£
Paper : Il Group : I Objective u‘ 1) g o h,d’; H: 24
Time : 15 Minutes D 2 151 oJy
Marks : 12 PaperCode |7 |4 (8|2 | gwi=§3=1] 12: 4

s A A

Note: -You have four choices fo;l

question number in your

Her L rerne u:/'b?_f:.’.':.:&.vz.dir /:/'Qb’dlk..wi’c,;D #1C, B', Azl JI:Z.JLV f s

Kns? J.k'.,l;?uf A J LA, 4/ ) i/ 4:( UsHsesk s oLl

each cbjective type question as A, B, C and D. The choice which you think is correct; fiil that circle in front of that
nswer book. Use marker or pen ta fill the circles. Cutting or filling up two or more circles will resuit no mark.

Ques&ons Iy

Q.1 A B 04 D
AP ILK P54 LLEPCL, 2 Cly 41PCI,
-3 * - X
1. | For a reaction betwejn PCl; and Cl, to form mol dm mol™" dm™ mol™' dm? mol dm?
PCly, the units of K _4re:
Coerng K‘-w‘/’ ;(:,,.Jd,{fguf_&ziiftwég;
" 2Ag) + By ¥=23Cy, | [2AlIB] [AT(B] [3¢] ey
: _ [3C] [C] [2A][B] [AT[B]
For the reaction 2A(g) - B(g) = 3c(g)
The expression for the gquilibrium constant is:
S 2 AU S i = 5
3 e BT, N. @ HCO, 50,
Which one of the given $pecies is not amphoteric? '
s O
Ul U
4. Csng &\CCSHH CH,, CsH g
The formula of pentane js: r 3
BT VB V- W AVE] PRSI LT ‘ E- JUEl clss Jlog
S. | Which one of the given ¢compound is a saturated @}» éthane Ethyne Propene Propyne
hydrocarbon? ;& '
-C'U:rfﬁf‘[.,fé Vot f‘b)glj_-:d-;g (x&wg ugﬂ-/b’ u’:’{h}g
& Halogenation of MethanF does not carbon tetra chioroform carbon black chloromethane
chloride
senddnoiedo| A s i o
7.
Which one of given is a {riglyceride? carbohydrates protein lipids vitamins
O PN B VET PREAT|
I 8. H,S0, Co, coO SO,
! Which is secondary polln!)tar_\t?
‘ 5
‘ Jb‘ﬂfdﬁdl’éﬂai’}i ’;:“{J" s el _
| 2 2/ A+ & %
o 0/
; Acid rain affects the aquatic life by clogging fish gills Lead Chromium Mercury Aluminium
| because of metal.
| . ¥ Sarn. §
| tebre 80364
} 10. ‘ ? ad Ca(HCO;), CaCo, MgCO, MgSO,
; Temporary hardness is Qecause of:
o Qb '
1. Cu,S CuFeS, CuS FeS
; The chemical formula of copper pyrite is:
# wri b e ieleb u/7CO, ctfries
2 <&\ NaHCO, NH,HCO, Na,cO, | (NH,),CO,

When CO, is passed th
the only-salt that precipitate is

ugh the ammonical brine,

116-221-A-42000 *




O i Roll No. (et 13}11144)
Chemistry $.8.C (Part-lI)-A-2021 GAE°
Time  : 1:45 Hours Group : I Paper (ID 24 YEIE h{:/ 15 =
Marks : 48 Subjective (3 S~ [ L‘Z:J 48 : /
Note: Section | is compulsory. Attempt any two questions from section Ii. ,ég R agizéaumx,ék—uﬁ@/ 4 EHJisd
(Section - | dil.‘i)
2.  Write short answers to pny five parts. (5x2=10) -é{ F el / Ldz’lé&:.{}f 2
i. Define chemical equilijrium state. i8N I
ii. What is the relationship between active mass and rate of reaction? S‘z,;('fj l_fuf-..*,z,,L f«iémtu’ LJ‘Q i
iii. Write down the equilibritm constant CO(g;, +3H2(g) == CH%) +H 20@) —é) U?'Aél .:.y {‘{ A6 flg:’.d:‘w%lmé’.d,: i
expression for the given|reaction.
iv. Why H"ion acts as a Liewis acid? tebr /| M4t LIS AVELETH v
v. Define Bronsted-Lowry base, give an example also. ,ég ¥ Fe /‘fzé..y A St v
vi. Write down uses of Magnesium Hydroxide. _é £ /2.;,1}[;7’ 1L s Ty %;}:’f‘ Vi
vii. What is a carboxyl groyp? Write down the formula of Acetic Acid. _ég v Ur;#&’}.{,h..g’:::il fe v:f df LA i
vili. Write down the dot and| cross formulae of propane and n-butane. {@f B b1 el 2 b’u.‘,ir.;d" Aalefhag Vil
3.  Write short answers to any five parts. (5x2=10) @& _zég F el ad f-»brlékc_éf -3
i. How alkenes are prepied from alcohols? Q\‘/\\O fe bl 19‘4/ e # s ASH
ii. Write down two uses of acetylene. O%QS 2/ -é e l»ﬁ.wﬁ’ ﬁ! i
iii. What is incomplete combustion of methane gas? Give a { @ _:’id cff-{ldﬁ.’:r,)" %11 ﬁf (:Lu:{ fg i
iv. Lactose is a disaccharitie, which monosaccharaides a%& in it? ?wZJgLQJ.‘d/c Ire iUty lq—fﬂ)é SliE v
v. Write two fatty acids with their formuiae. O ,é) JU}‘;GLM;)I(I;LJM&! 5 v
vi. What are primary pollutants? Explain wit gple. -éiuz,dw,{wuz y.j“.’"‘ K84, i
vii. Write down two characteristics of s - ere. -a’f,; V4 a&ﬁ:”’ :9(5]1.‘." %L Vi
viil. What is ozone depletioh? Wh@: noticed first time? ?Gﬂuu&;WGJn4¢¢v+,i P e bl i
4.  Write short answers to any five parts. (5x2=10) -éé; el & L,f:zléha.éf -4
i. Why the water moleculg is polar? S b )44_);:9 Loy i
ii. blfferentiate between sbft and hard water. -aéébé SRSl Sy .ii'
iil. Write any two disadvaj:ages of hard water. ,&‘f .:«bbo"’»ééi’di/‘bby i
iv. Define waterborne infectious diseases. ,é’a‘-{u;/"' dugmawé&g v
v. Define minerals. ,éf..zﬁ'd//" v
vi. Whatis anode n.lud? Sl plf e b3l i
vii. Write any two raw matdrials of Solvay's Process. Jffflm.f—ﬁ C PR TN 185D PR
viil. What is the role of pine| oil in the froth flotation process? ?q./b/ Sy 104 :4&‘@)531 i
Section— 1l #»o
Each question carries Nine marks. ~ (5+4=9)  _( /#iL i 4
5. (a) Explain the Lewis c¢ncept of acid and base with example. & :dlaamaifuu;d,}fu 2L s 2 () B
(b) Describe physical properties of alkanes. -éu;agmi G’b d;giu )
6. (a) Define functional grpup also write two tests for -é i nd .:5-196.(:/’ u@)‘{ I ;é_y A (fvxf Jw (W) _6
identification of alcgholic group.
(b) Differentiate betwedn essential amino acids and nonessential ,zéaw y 32 ud}’/nwb Bl ANF Ll‘,}.,j;-'/“l ()
amino acids.
7. (a) Define acid rain and give its four effects. ,ég F el l»lé.é..yﬁ Scats (D 7
(b) Explain extensive hydrogen bonding ability of water. .aéyu,dqwdf /;’GJ p- 1104 m‘r(é&g ()
?’v% A : 116-221-A-42000




Chemisiry (B Lk @d o Jdha ] =\ 3% ] v/ T
Paper : II  (Group:I) SWL"O'GO-ZQ (fig)  I0: gy
Marks : 12 Objective (&%) 42 & A
Time : 15 Minutes Code : 7483 L 15 o

/fa.cf&/ikfa,’fb.’ib’g{lb«:-_«fﬁwur_,uﬁ'u;}béfé.f;‘b«ﬁd‘rﬁ{(é((}lﬁ -u_'?i:;.‘fé..; Ds»C,BA o@'ﬁ;ﬁ;qédlr/; %
-b’n;y"bﬂi?ii:u:'jiui.;/fdL//:/.:,KLL/‘//,;@J?DMLJ:_.HQ " _"‘)

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

10.

11:

12.

fill that circle in front of that guestion number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result no mark.

. Which one of the followings is reducing sugar? ; ?c‘;f;‘f..ﬁgézuufuﬁ Jipn -1 A
starch &.b (D) sucrose st (C) maltose P (B) glucose pri1 (A)
. Which one of the followings is disaccharide? ' ’ e Nl Lt -2
starch & (D) sucrose i1~ (C) fructose ¥/} (B) glucose #¥ (A)
. Which one of the followings is saturated hydrocarbon? S B B i e il -3
C,H, (D) C,H, (C) C,H, (B) C,H, (A)
. Coal gas is a mixture of: / B 1 _c‘./,’CJQ/ -4
CO.H,CO, (D)  CO,CH,H,>C) CO,CH,CO, (B) CO and CH, (A)
. The formula of pff is: @Q 2 - lvs6¢ pH -5
- - O -
pH _log[OH"J (D) pH =- 10g[;1'J (©) [é . 11*] (B) pH:log[ H‘] (A)
. The compound used for manufacturing of soap is. @32 ,gtﬁdv;lngfngcﬁu -6
NH,OH (D) ANQHYNS(C) Ca(OH), (B) ' NaOH (A)
. The moiar concentration is show 4 ce bl ﬁ‘()f -7
{1 (D [] (©) = (B) () A
. Colour of /, is: _z‘-rx.f/b’ 1, -8
green (D) red {, (C) purple (s (B) colouriess £ (A)
. Which one of the following fractions is used as jet fuei? v ?%Bﬂdwfd;é_'{w‘%'oig)uuf =3
lubricating oil SJTGL (B) kerosene oil STl (A)
diesel oil Sz (D) fuel oil ST (C)
Which one of the foliowing diseases causes liver inflamation? ?ﬁ;.ééilgb’u"z'nf/;d/lﬁd 014 " _10
hepatitis u""L‘lg (D) cholera =z (C) jaundice Wty (B) typhoid ~'ut (A)
Permanent hardness is removed by: ; ‘.‘4‘_L“Lgt_f?} = JsiL u[fu'fb‘te,ﬂ{ 13
Na, zeolite LAy i by (B) soda lime | (';UUr (A)
lime water ng’é_;; (D) qguick lime 74720/ (€)
The gas which causes global warming is? ' (/ // ?;,quu;ﬁ_xd;@,u&f <12
Fard

0 (D) NO () SO, (B) €O, (a)
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Chemistry (U1 I LSE) AL
Paper : II (Group : I) SWL—'O—G. -0 (...{:fﬂ,r;) I gy
Marks : 48 Subjective (&1 48 :
Time : 1:45 Hours 2 1:45 0 =
-é{j@&'ﬁé;m}’ 2 c.(j)(é:..u-'.'(u..ﬁ-c‘-d}lld;l:» Py

Note : Section I is compulsory. Attempt any Two questions from Section II.
(Section - I J3i.0)
2. Write short answers to any Five Parts : (5x2=10) -é;agliﬁy&flzlégc d:(

. Which types‘ of reactions do not go to completion?

ii. Write equilibrium constant expression for given reaction.

CO,,, +3Hy,, = CH

(g) 4(2)
iii. Define Irreversible reaction and give an example.

iv. What is static equilibrium? Explain with an example.

v. Whai is meant by Water of Crystallization? Give an example.

vi. How PH of a solution is measured by using

universal indicator?

vii. Defiﬁe Conjugate Acid and Conjugate Base.
viii. Write two uses of Calcium Hydroxide.
3.  Write short answers to any Five Parts : (5x2=10)
i. Define Carbonization.
I. What is pitch, give its use?

ii. What is difference between # -propyl and isopropyl? g@

iv. Why Alkanes gives substitution reaction? @
v. How can you distinguish between Ethane and e? :
<&

vi. How vegetable oil is converted into ghege’

ver AL AL U

L AHE JE 1D LSSt 5t
+H;0,,

’f“)JPh,CJ 2l :._-.d/“&j""d/d’ 23 1t
& “’b}/g—'dl/ "LL‘({/)J gt

"";Jl?.fl “r.)'/kfa,vf'fb”/uf’b

?.45;(5: Q/f:;"‘c__. pH L}J:"‘a,nc.)/‘)w’l;'k-(ﬂ‘fzz.f

S PSSLTEE S AATEY
i L (Ra Pl
-é:@blﬁ,ﬂéd'}.ﬂé&c_—;};
LS SN

e Y181 - VE

e O Sy Tt Sy
St L Sk S st 7

o)

$E g S0l Ut (Ethene) o 1o (Ethane) 2 1 T

4..“7[/' F Y sk u*f;(d/(}iu

vii. Why rancid butter has a foul smel fe urc;.o-du‘-y’;vu« f Ut
vii. What are the advantages of oluble vitamins? N v»uw_ /L;J’*’r/‘f:

. .’ < -~

4. Write short answers to any Five Parts: {(6x2=10) -Z)..W/"Z;i?létc,dy

i. Write two eﬂ‘ects of Ozone depietion.
ii. Write two effects of global warming.
iii. What are secondary pollutants’? Give an example.
iv. Write two disadvantages of polluted water.
v. What is fluorSsis?

vi. Name any two raw materials needed in Solvay's process.

-.,...,!/l %) _Jg..,(&_)u;a

Sy L.,@A:J;g

_Ea ek e W
L@t L 2isis

RPN

_édjftd: /.L./;'/rb ” d{u{i{/:uf",-‘l{_'(_;'l/

vil. What is the boiling range of diesel cil? Give its one use. & ek se B ST s
viii. Write any two fractions of residual oil? -ﬂ/l’té'/'ig/.' 7 dJiZ;(J?Jgéz,

(Section -ITI ¢ 2)

(Each question carries Nine marks (5+4=9) u?/-.‘; s v

5. (a} Write any ﬁvé macroscopic properties of dynamic equilibrium.
(b) Describe any four chemical properties of an Acid.
6. {a) Write any five physical properﬂes of Alkanes. .
(b) Write any four usages of carbohydrates to our body.
7. (a) Explain the process of manufacturing Sodium Carbonate by
Solvay's process. |
{b) Explzin four important waterborne diseases.

i

How can we remain safe and sound from these?

L e LGNS EASE LS
oL e (I

O AN

-va'ff/lpc:.&f(u’/ gnw:(‘i_m
-é Lad/dje L.v.-«d)g/)rc.d’:/;_)lr (a) -7

il

i
Y
<\

-Vi

~Vii
_vii

-3

||
il
-iv
-V
_vi
Vi
Vil

-4

it
-iv
-V
-vi
=Vvii

_viii

(a) -5
(b)
(a) -
(b)

(LJCH)L)"‘,/’UJLJ‘ c....)La:Ju:'/P sk d')é..)"fks..—.xb(d{ (b)



ROl NO. AlNTIJal 2VavV

Chemistry (ot X AGEE) - (1) S
Paper : II  (Group : II) SWL-IO —G;.. 20 (.,,,fl/» ) I1:zy4
Marks : 12 Objective (155" 12 : #
Time : 15 Minutes Code : 7482 15 12

/c.g-j}L/CL}G}‘)WJWLYJ.:/AL.ufwf'béé_ui’.LIL/.JV/:{QKGFZ -u_','éc:_) DsC,BA .:«U;Z.'fzgﬁdlyfr‘ sy
Jmﬁw_,mu j‘;ﬂa/}"l,(i_/y.bﬂd'_//:y(u;ﬂ)e:k}c_.;g Wit
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will resuit no mark.

1. 1. In an irreversible reaction, dynamic equilibrium: AR EHA G R -1 A
i . i % -
establishes before completion of reaction ‘:[‘—tig)ffl;%G-L_ﬁycfg'ij (B) never establishes t'nuf'? 5 (A)

establishes readily c‘-vlg::fF)Jeo/. (D) establishes after completion of reaction .f_bn(’l?»:'éLﬁJff‘gld/ (C)

2. A reverse reaction is that: _é.mf'gldng 4 =2
proceeds from left to right et bl e u:/g_e (A)

in which reactants react to form products ujZ.l-«J%gL/pg Iu’;uf"gldzﬁua (B)

speeds up gradually < txZEuez (D) slows down gradually < tv=:1C.22  (C)
3. Acetic acid is used for: —e bW -3
making explosive &tz e (B) _ flavouring & g/ Sud (A)

<

4. A reaction between an acid and a base produces: "3 [«;.u;g iGalends U2 AL 4

cleaningmetals &/ J6-J " (D) %isigns &t (©)
S S0 gas o st he %;'%S@ salt and water 3 ol e (A)

salt and a base S ;@ ¢ ) salt and an acid e (C)
5. The ability of carbon atoms to form ¢ coaned: _L,gq'ff.:f_»’um\ﬁ,tzc}ﬁuf PO
condensation /*" y (~D) nce Uy, (C)  catenation J":u‘{ (B)  isomerism (J//T (A)
6. Which one of the folilowinéé is saturated hydrocarbon? S iy s F1 Ude il -6
cH, (@ C,H, (C) CH, (B) C,H, (A)
7. Photosynthesis process produces. -c‘.t;rf&;,d{': /:“v)i My
glucose A (D) sucrose S (C) celiulose ik (B) starch &.L  (A)
8. Which one of the following vitamins is water soluble? ‘.‘“;.t'angrut Gg{l)f:;.uﬁ ot il -8
vitamin E ¢t (D) vitamin D /ts  (C) vitamin C ¢ts  (B) vitamin A /'t (A)
9. Normally the rain water is weakly acidic because of: ‘.“abn._ﬁdl(/c.,pd/ﬁff;’/ 62(&44/}*""& -9
uf-f NO, gas (D) u‘-‘f SO, gas  (C) J.'-y CO, gas (B) u’-‘-f S0, gas (A)
10. Which one of the following diseases causes liver inflammation? ‘.‘.?.G"’?r BRI Y Ve L3t 10
hepatitis u"llfl',; (D) cholera .=z (C) jaundice o6y (B) typhoid 2Lt (A)
11. Which one of the following ions does not cause hardness in water? S‘uﬁ‘fpd/gffﬁjwl,ﬂdfaw Attt -1
Na' (D) so; () Mg™  (B) ca* (A
12. Matte is a mixture of; o £ (Matte) & _12

CuS and FeO (D) Cu,S and FeS (C)  Cu,0 and FeO (B) FeS and CuS  (A)



"ol INO. AATHNUaY VLY

Chemistry (Ut I LSI4E) | gt
Paper : 11 (Group : II) SWL-,O.’G;-:‘) (..;;fl/») II: 34
Marks : 48 Subjective (&) 48 : A/
Time : 1:45 Hours 145 1

_zggfaglﬁﬁaﬂlf Y c_-éf:..ufr»/’_%d)ﬁdﬂ;» DLy

Note : Section I is compulsory. Attempt any Two questions from Section II.

(Section - I Jil.2»)

2 Write short answers to any Five Parts : {5x2=10) -&:@Llﬁ/"’éolzlégaéf B
i. Differentiate between reactants and products. -éld)u.’u“"/b‘; ! Jy‘/idj wi
ii. Define “ Chemical Equilibrium state." Al chJﬁ-'/&f 1S v i

E FRAEISE L Ny + 3 ) = 2NH ) i

iii. Write equitibrium constant expression of reaction Ny, +3H ) = 2NH; 4,

iv. Write two differences between forward and reverse reaction. 2 S/ o L,Cuf‘gidzwzz sl 306 _iv
v. What are mixed salts, give example. EJe tQ_:'l;’LfUL'LC v
vi. How universal indicator is used to find pH 2 s el PH cosnEiimtisy i
vii. Write two uses of NaCl . @y 5 £ NaCl _vii
viii. Define Neutralization Reaction and give example. & ..yﬂ,(ffld/ﬁfu)g _viii
3. Write short answers fo any Five Parts : (5x2=10) -.?;wyzf"’&,rzuéﬁa_df -3
i. Write any two names of alicyclic compounds. ' @t&)ﬁﬁg‘&vi [y ey i
ii. What does an element need of basic properties to ?‘a{)’ﬁ.:w AR .,.JgAﬁﬁWKﬁ'@{f 247 i
show catenation? &
iii. What is meant by Alkyl Radical? Give their general formula. 0%% @i 26 Se Ve St S i
iv. Why Alkanes are called Paraffins? “q{;:fuyf ;’ei![?f ﬁﬁf -iv
v. Write any two uses of Ethylene. @%b \?. ~.4£.-,m-:~: e
vi. Write the structural formula of Fructose. @ -&6 U:’/Gd/-{ ¥ /fv';’ Vi
vii. What is meant by Peptide Linkage? © L *'*“*1\ Sl gﬁf&;»:? i
viii. Write any two advantages of vit T * &3 0 = G i
4.  Write short dnswers to an Parts: (5x2=10) -é};&'ﬁ;ﬁr‘x'é&&é{ 4
L Hewis O, réspansible for heating up atmosphere? Se_sbrns$i AP 3 T i
ii. How is Ozone layer formed in the stratosphere? . ?44‘_(3"44;(51‘}}))[0: /’f":‘z g
iii. What is meant by Incineration? Sl U A i
iv. How does water dissolve sugar and alcohol? % b/J’d::U’;”’J sl E q'jg -V
v. Why are pesticides used? ?q..JIgJJWlu[ ¥LG¥ v
vi. Describe the principle of Solvay's process”? -g{uy.dﬂlb"jfj&.:'v ~vi
vii. What is meant by Anodemud? el d3sr il
viii. What is difference between crude oil and residual oil? ‘.‘g.J}L,‘JDi‘J’TJ,_'é;;; s ST _viii

(Section -II (o )
(Each question carries Nine marks (5+4=9) A3 Ldw)

5. (a) Describe a reversible reaction with the help of an example o S S i sa§ S i JE (a) -5
and graph. -
(B) Write general methods for the preparation of soluble salts. -i:gf-.i;. )(uédjg&ﬂ (/J-”'Jy {b})
6. (a) Write down five physical properties of Alkenes. -ﬁa&ay"&.’b éLJ /rji (a) -6
(b) Define Amino Acids. Explain that amino acids are DL g AR o ey Ly AU (b)

building blocks of proteins.
7. (a) Write the raw materials for the preparation of Urea.  _&=. 2oloff ‘/I'L?L:j;gd/u’[ 7@k, 2 Lsedu @) -7
Also explain all steps of its manufacturing. ‘ ;

iy e GEHEN (b)
116 - 220 - 27000

(b) Write four effects of water poliution.



27

Roll No. S_A)L Annua' 1
Chemistry (New Scheme) ( (U « IT Loy 2E)- (T ) F 5 Yt
Paper:II (Group:! ) (Academic Session 2017-19) (¢ Ug) IX : ¢
Marks : 12 Objective ((552*) 12 1 2

Time : 15 Minutes Code : 7481 < 151 =y
/i‘-.gﬁ’&/CU’-}'JJ;’JWC-’-'R-:w’ne-gﬂd:?':é{..)&.b&db’;{(éb’d'?. _u__?é 2D C,B A :—UK"’GJ!{-‘:JU’; QY
-(n/:".w.f'ﬁuﬁu:.;u‘ﬁ./v&b’gi_/Ju:/'bugjc_.«g <
You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

Note.-

1. 1. The colour of hydrogen iodide gas is - ks ¢ o Wt Sy -1
colourless & P (D) blue b (C) purple J{ (B) black W (A)
2. Which one gas was prepared by Haber's process? ‘.‘u;d{&_l: ‘,ff u’f S ST s L2
methane o2~ (D) amonia Y»1  (C) nitrogen st (B) ‘ hydrogen /%0  (A)
3. Which one is the Lewis base? e OV 2 st -3
BF, (o) NH, (©) H* gy AlICh (A)

(
4. Malic acid is found in Q@ —able L 42t O -4

apple e+ (D) orange 2 Z.L (C)sour mik (% na' (B} Lemon Auss (A)
5. Molecular formula of butane is 0%% - Ur ¥ A L5
C.H, ) C.H,, % CHy, ® Cedly (A)
6. Main component of natural gas is @ & 37 (A1 (J:f Ju? -6
pentane VC’-" (D) butan ‘@(C) propane ¢ (B) methane fr (A)

L]

7. Formula of palmitic acid is e UG K S B 7

¢\, 4, COOH  (p) 3 COOH () C,H,,COOH (8) C\sH, COOH (p)
8. Deficiency of vitamin D causes -c,-t?‘ oL KU/ «.{J S5 -8
rickets (/eSL » (D) night blindness A% w/t (C) anemia Ll (B) scurvy U (A)
9. The major constituents of troposphere are Nitrogen and - H FaFe ez enl Byt -9
argon w77 (D) carbon dioxide }fu’féu;cﬁ,g (C) hydrogen ¢fsiL (B) oxygen dgf; (A)
' 10. Which one of the following ions doe; not cause U ﬁ.._uJu‘-‘Ll, uf[}'; Vet AT ln 10

hardness in water:

Na* (D) Nojs (C) Mg (8) Ca™ (A)

11. Nature of water is -l 5 Jd; =1
basic <& (D) acidic J42 (C) non-polar /Ui (B) polar /7 (A)

12. is a fraction of residual oil . e S SUT Uty A2

petroleum ether /2' (3:}; (D) petrol Jis (C) asphalt &/L-i (B) kerosene oil JIT u.‘.’:,:.r (A)
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Chemistry (New Scheme) ((":ul( « II aﬁ«/&d/ﬁi?) ((:‘ £) g~

Paper :II  (Group:I) (Academic Session 2017-19) (oo llg) aI:z¢)
Marks : 48 Subjective (&) a8 : A
Time : 1 : 45 Hours &4 a5 2

-é{fc«&b‘f&.&wf (2)»;(3]:.&(»).;.(!}&}:".» 2

Note : Section | is compuisory. Attempt any Two questions from Section Ii.

(Section -1 Jii =)

2. Write short answers to any Five Parts : (5x2=10) -&w&fif‘?ﬁv‘ﬂé&:—‘jf -2
I. Write two characteristics of irreversible chemical reaction. _c:.-"'_//- .:_hLar"' 22 Ju’—( iy ;ﬁ‘{ JEog i
i. Define chemical equilibrium state. E S e S ALl LS i
i. 1f Q. <K, then predict the direction of chemical reaction. E B oS S L5 O. <K N i
v. Write equilibrium constant expression for the given reaction B (O ARSI &N 8 &L & v
[,2‘(ul+12(ﬂ)‘—_‘;2H[(;:) ‘ HZ(.L')"'II(g):ZH](m
v. Define conjugate acid and conjugate base. “FEwS St oL A s LLEY
vi. Write two properties of salts. -é’_//’ _-,.L.-y"' nd Lf‘) L owvi
vii. Define amphoteric compounds and give one example. SIS oy S kg S i
viii. Write down two uses of sodium carbonate. 7 e g O LK S Vil
3. Write short answers to any Five Parts : (5x2=10) -zfzwyw‘"érlz '&&c-(jf -3

i. Define condensed formula and give an example. -4 ] 2‘;’._gf7 S Ut A i
. Compare any one property of organic compounds . ZZ.2 iy (_-/.'G‘@ SRS LTl et LSS T i
with inorganic compounds. @

& " g
ii. Define ammonical liquor and give its uses. o @ o Lzt wS S AL i

iv. Define saturated hydrocarbons and also write its SV U2 6t A sz, o v

general formula. %
v. Write down two uses of chloroform. @ oy & Pk Ly
vi. Give balanced equation for formulation o gé@e. & e Qg E L AE i
vii. Write down the sources of vitamin S o LS5 i
viii. How is gelatin obtained? fe b e/ AY Lviii
4.  Write short answers to (5x2=10) -Zt:a&btxﬂﬁolm‘g;df -4
I. Write the composition of dry air. -Zg u“-’u;r Jm Lo
ii. Write names of any two secondary pollutants. -é.';.o'(té J"‘iﬁdxﬁé nedS i
iii. Define Acid Rain. S S g i
iv. Write two reasons of the importance of water. ~&Eolzs 0 J.:.:?l Jd& ~iv
v. Write two effects of water pollution. @ b S 2
vi. Define Metallurgy. LS SBr i
vii. What is blister copper? Sg_[;m[{( i
viii. What is difference between ores and minerals. S0/ VLA 24l it Vi

(Section - 11, = (93 )

(Each guestion carries Nine (5 +4=9) marks 17 (5+4=9) ) LJiry)

s‘.(a) Write five macroscopic characteristics of dynamic equilibrium. w4 =l ..{:C:f égJ A SEI L5 (a)-8
(b) Write any four uses of bases. _ & =y A;:..Jf L.z (b)
6.(a) Define substitution reaction. Explain ool e Ll S & A Sl Ay L ¢ (a)-6

it with reference to halogenation of alkanes.
(b) Give the importance of vitamins. Uk aat § >t (b)
7.(a) Give detailed account of Ammonia bt (lf (RO % S N A (U Pl (a)-T

Solvay's Process along with its flow chart.
(b)  Write four effects of Hard water. -z,‘-.}f <12 7 LI (b)
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Chemistry (New Scheme) ( (r;uu’ «II ..*.ugdﬁﬂ?)- (IX) ((fg') :}

Paper:IT (Group:II) ( Academic Sesslon. 2017 - 2019 ) (.,,:/t/») I : ;¢

Marks : 12 Objective _ (55> 12 /]

Time : 15 Minutes Code : 7484 <ir 15 1 =D
S S5, [/L’C}UW&W&V’RC—’—’JJG-QJ:ul;‘"éé—.’&-VLJ‘Yﬁ{Q(d‘ﬁ -ujéﬁ :,DsC,BA :«Uﬁ;«@k&d’rﬂ s

-(nzr"w....«':?uﬁgﬂ.;u)" L/.é/.bf&i./gu:/'bugic._{l )
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. One of the following is used as jet fuel. et b SR 2 L A S350n -1 A

kerosene oil JTet3d (D) diesel oil JT Jys (C) fueloil JT Js (B) lubricating oil JT &EJ (A)

2. Maximum density of water at 4°C is e M utie w § By ¢ 4°C 2
20gem™  (p) 1.5gem™ () 1.0gem™ B) 0.5gem™  (p)
3. Chemical compound used in Clark's method is ~e- Ut 25 S S LK 3
Ca0O D) HCI ©)  NaOH Ca(OH),  (p)
4. Percentage of co, by volume present in dry air is - s s B a2 S I o .4
78.09% (D)  20.94% (C) & (SN 0.03 %  (A)
5. Fatty acids are the building blocks of @% RS I 5 P3P
vitamin % (D) glucose ¥ protein fry  (B) lipids ;5,1‘ (A)
6. Formula of stearic acid is A e U ¥ 2 2 6
C,H,,COOH iy C ©) C,H,COOH (g C\sH,, COOH ()
7. Dehydration of alcohols i d out with e dbdiL £ gy 3 SSA 7
H.,SO, (D) HNO, (©) HCI (B) H, PO, (A)
8 Percentage quantity of carbon in peat is -¢ S widi§ SIB S g -8
90 % (D) 80 % (C) 70 % (B) 60 % (A)
9. Lactic Acid is found in —e bl Lt b2t D 9
sour milk emé.nZ (D) Apple U2 o (C) Orange J* £t (B) Lemon gﬂur:' (A)
10. pH of neutral substances is always equal to -q..anzix S pHJ Ao J2E 10
14 (©) 7 (&) 5 (B) 0 (A)
11. The colour of iodine gas is -q_..fz § Jf LIFT 11
white 4+ (D) black ok (C) orange u"t (B) purple ¢ (A
12. Guldberg and Waage put forward Law of Mass Action in WU ubgl SV ST s Ll Sk 12
+1889 A.D (D) 1879 A.D (C) +1869 A.D (B) +»1859 A.D (A)
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(ﬂ)(ﬂf « IT Ja/&d:l‘é)

Chemistry (New Scheme)

Paper : IT (Group:II) ( Academic Session 2017 - 2019 ) () ax: ;.
Marks : 48 Subjective Wwn 48 : -~
Time : 1 : 45 Hours &1 145 =5

Zfeiz Lty 2 nedla Lppoe Sil)iio LS
Note : Section | is compulsory. Attempt any Two questions from Section Il.

(Section -1 Jil %)

(5x2=10)

2. Write short answaers to any Five Parts :

State the law of mass action.

. How is dynamic equilibrium established?

it . >k, then predict the direction of reaction.

AP ST
et 6 & A7 ST L
Y B eSS QRS

BCTRSITY y /i {1 W=

~i
wli

iv. What is equilibrium constant? How is it represented? ‘e bl \_Jf¢\i~'4—7 J1 ‘-'t,'-L/ e ﬁﬁU’g v
v. Wirite down two uses of sulphuric acid. & st g L a2 SR v
vi. What is meant by adduct? Sestr ' o 23 vi
vii. Write the formulae of bleaching powder and potash alum. L@l L Jyg st 4354 -»Q‘-" Vil
vii. Name two acids used in the preservation of food. -"d‘T(L' E i &ty &L 85 S SUp i
3.  Write short answers to any Five Parts : (5x2=10) Q -2’,'::_-4&/‘?&»'2'534:—&/ -3
i. How are alkyl radicals formed? Explain with example. @. ,~~>>Un;_d"¢* "uE"d- é.r f"-él J.h/” -
ii. Define molecular formula and give an example. %Q “ZJe Lo ZEov/ S U /zgt -
iii. Write down bromine water test, b % g & My s i
iv. Write down two uses of Ethene. %@ & oy s LT v
v. Why alkenes are known as "Olefins"? @ fe bl tfu)f s '] /‘d‘ -V
vi. Write down structural formula of glucose. &b Urb J/’vf/ ¥ i
vii. Write down two uses of carbohydra ot g L J’%Jﬂ:{/( -vii
vii. Define " Lipids ", oy Gy oviii
4. Write short answers to _’cﬁ:a(lﬁfy&lzlé«&f_-df -4
i. Write two effects of global warming. e e & s JF L
il. Write the names of four regions of atmosphere. -;th LA L & i
iii. Whatis catalytic convertor? b 27 B i
iv. Why is the water molecule polar? Cetor . Jy JRA S v
v. What is hepatitus? e YUty v
vi. How is ammonia prepared by Haber's Process? ?q_g}k_:&l_; 4 Lo & LUTig 4 Vi
vii. Define Petroleum. v She i
viii. Define Minerals. s S A i
(Section - Il ,_~ 3 )
(Each guestion carries Nine (5 + 4 =9 ) marks (17 (5+4=9) ) ZJirz)

5.(a) Write five macfoscop‘rc characteristics of dynamic equilibrium. -’dg;,gar‘"_{ :)?@J EJ 6L LK (a)-5
(b). Write any four chemical properties of acids. -a.‘_-.,t_,:r" Jt:..leg 'JJ:(JJM' (b)
6.(a) Write five physical properties of alkanes. -2;-//_ :«_ux". UJ ?;.E s /‘g' (a)-6
{b) Explain the four sources and uses of proteins. -:{.fyu: J.:. 1Pl E.l sl v e L. ;‘s":{ (b)
7.(a) Write a detailed note on fractional distillation of petroleum. L@l £ u’-’g’i JJ’;/ Jff:/{v (a)-7
(b) Explain the methods of removing permanent e SURSLL S i L S ey SAL (b)

hardness of water.
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Chemistry ( UK < IT ASLE)-(T)
Paper:II (Group:l) ( Academic Sess
Marks : 12 SNL*CH -lo-[2 :

Time : 15 Minutes

Objective ()
Code : 7481
ﬁc_u_'_’rg/:L:{a}‘:w&fl'afigliuuc,uﬁu:ﬂ:éﬁ{_:&b&:g‘rﬁgéﬁélﬁ - ) 4 A .
-b’xu"ﬁ.,'ﬁuiiVi‘.’:—u“\ﬁ,/@’.‘«ﬂL/Jw}bny@u_&.!

Roll No. _/ ¢ Annual 2018\
el
(n.(:/ e) I : .24
12 : 4

e 15 1 =
C.BA =zl Jvs os

ions2015 - 2018 )

2
&

P4

i D o

-

~sd

Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number. Use marker
circles will result in zero mark in that question.

or pen to fill the circles. Cutting or filling two or more

1. 1. The gas prepared by Haber's process is B MO P ch..ug,( 5y & 14
Co, D) NH, ©) SO, (B) SO, (A)
2. Inequiibriumstate K. s equalto -~ & barsle K. toeliiok 2
R, R, K, K,
K, (D) R (©) X (8) K, (A)
3. Acid used for flavouring of food is = 2L n a5 B S8 3
Acetic acid a2t (B) Benzoic acid A (A)
Nitric acid AT (D) Sulphuric acid 22 i (C)
4. Which one is an amphoteric compound? ©€/®2§.,}.‘ &40 ..// Vs .4
CILCOOH HCI © N, ST (@) H,0 (A)
8 :
5. The general formula of alkyle radical is _ @ —etirid J2 ¢kL JEi 5
(,':;[12"4 (D) C.,HZn-z @% (.'n[{y, (B) CnH2n¢2 (A)
- . . . - (
6. The other name of alkanes is S - i 9 € (Akanes) yf')' -6

acetylene ..zf 7 (D)

T Thoﬁsands of amino acid

vitamins >t (D)

lipids

% (C) proteins

8 Which one of the following is a triglyceride?

/

carbohydrates J'ﬁ,u‘gpf,e (D) proteins s, (C)

9. Depending upon temperature variation, atmosphere
has been divided into number of region / s.

4 (D) 3 ©)

10. Which one of the following diseases causes liver inflamatio

hepatitis u:"L"L:,« (D) cholera .=z (C)

11. Water dissolves non ionic compounds by
ion - ion forces P SaAl (B)
ion dipole forces AT (D)

12. Formula of ureais

hydrogen bonding

dipole - dipole forces

olefins A0+ (B)  halogens = (A)
AL P Y A o T

=+ (B)  carbohydrates uizjfgx,f (A)
e i1 H02 Sl t st -8

lipids J% (B) vitamins b (A)
e WP A A b LA -9

(B) 1 (A)

n? te_Fariird RSl st its 10

jaundice b, (B) typhoid it (A)

et/ S n S5 EETRdL 11
SHPuE )
rididsdidn ()

- Uy ¥ Lay 212

NH,CONH, () NH,CONI, d NH.COONH, @,  NH,COONH, (5
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Roll No. [3 2 ZZL Annual 2018

Chemistry (ﬂ:u’l{ « IT &J&d}ﬁ?) d/

Paper : II (Group:I) ( Academic Sessions2015 - 2018 ) :fUn’) (I1: ;/)

Marks : 48 Subjective (&) 48 : /
21450

Time : 1 : 45 Hours ng,{“ - lo-(8

Note :

-é{/’.:«&lﬁﬁamr (2)»4.(3&.&(».&.4.(5/!1&!.0 Oy

Section | is compulsory. Attempt any Two questions from Section Il.

(Section - | (Jil.2)

2. Write short answers to any Five Parts : (5x2=10) NS Iy /i T Pt
i. Define irreversible reaction. Give one example. -Z‘::JV..I 7] é‘:...u/’Ju"’/ "y m I
ii. How is dynamic equilibrium established? “:.m(ﬁ‘df f-f/u’;.{ 1A
iil. How can you know that a reaction has attained cU/J' bl A1 S G b’é’_.,arf [
an equlibrium state?
iv. What do you mean by an extent of a reaction? 0 e wa“'":'dz
v Write name of two indicators used to identify the -drt[.;ﬁ/di'l »Lf,LndL-:’f#,u,b;JJ:"qu s Sa
acidic and basic solutions. '
vi. Give two uses of calcium chioride (CaCl,) . -zf{{/{)m 9 & spu¥ (-ﬂ-’(
vi. Why 7 ionacts as a Lewis acid? S bkl i ol T g
viii. Write formulae of two normal salts. &Ll A Sk
3. Write short answers to any Five Parts : (5x2=10) é,uwﬁ'&mégc.df
1. What is vital force theory? Q@ ‘-'r—k/d»’wi S
ii. Define petroleum. O@ A A
iii. Write down the formula of ethyle acetate. & %ﬁ & s Ko Sl
iv. Why are the alkanes called paraffins? @% 4 JWZJ:[ )'t'.'{ (Alkanes) ,col
v Write two uses of methane. . % L&t 5 £ (Methane) o~
vi @ S‘q_&)lﬁﬂb’f/” PR/ 1
vii St A RNA
Vil Ll t L A E v
a. (5x2=10) NIy /1T AP
i. Write the name of two primary pollutants. -ért w ZU7 4 $Ay
i, Write down two harmful effects of SO, ot n L SO,
ili. Write down two physical properties of CO. -&F-'-Ln‘;&b "u/ CO
iv. Explain, why a water molecule is polar? "c_/!ur’/dgpt (w SE&Uh
v. Describe two causes of hardness in water. & .:.«‘MJ TSR uu"j’ugv-q;
vi. Write the name and formulae of two copper ores -é{/‘l,:'fé sl rtél‘nf nJ{K
vii. Describe electromagnetic separation. .’:{wu,JJ’-/ .@g‘:/'a'
viii. Write down two fractions found in residual oil. -é(tﬁ/( J 9 20 ST Jidys
(Section -1, - (5 )
(Each question carries Nine (5 + 4 = 9 ) marks 5+4=9)J Ly,
5.(a) Whatis equilibrium constant? “J:.bé»'b)fu‘!év/ ke ...hlxdl/uz!/ et s (/gl'
How units of equilibrium constant can be derived from a balanced chemical equation?
(b) Write down four chemical properties of acids. _2.’:}/‘;_1:4/3_»;" JkJ}H’
6.(a) Write a note on the following: Aad y St
reduction of alkyl halides .f ;;,»f;;"u_/. ,féf (i) threesources of alkanes oy L-f[. (Alkanes) ,rgl (1)
(b) Give four uses of carbohydrates. -é_//- ol /g&/'-li’w./(
7.(a) Write five advantages of Solvay's process -é_x}i’:} év;z:f’,{ P

(b)

Define water pollution. Also write its three effects

S L
115 - 218 - 33000
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Roll No. Annual 20T~

Chemistry (New Scheme) ( (Ul « IT A82E)- (II) F D g
paper:II (Group:II ) ( Academic Session 2015 - 2017 ) () ID:gy
Marks : 12 S‘Ul-’fl y - ,o__’Q) Objective _ ((54) 12 : 7
Time : 15 Minutes Code : 7484 o 151

/;‘c—gf'g//i.:{o/'bw&w&.,«lﬁ:/uc_'u:u:ﬂ)éé_)&\/édlrﬁ{«éKdli -ugéé_; D C,BA &&lijl‘:&d’/ﬂ tuded
e 12 i e S S\l imlie gl s
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1 1. Crude oil is heated in furnace upto -t (/.f B oo LS 4 A

450°C ) 400°C © 350°C ®) 300°C @)

2. Which gas is used to destroy harmful bacteria in water? ?Q_G@Jdbz'iﬂ&;(éf Vel 7 f} s ! K‘Euulﬁgﬂég -2
bromine % (D)  fluine /. (C) chiorne ¥ (B)  lodine ¢i¢T (A)

3 Permanent hardness of water is removed by adding - Fly] f"fuﬁ'}/; .»2&4J [}; S 23
Soda lime Asy (B) Na, - Zeolite  szyy; 3y (A)
quick lime ¥4 40 (D) lime water &g(&.g (©)

4. Acid rain effects the aquatic life -.:;.Jn)t? &‘JQT:, é_nir.,‘!&u:é'fc-_.gndf ............... 2P S I 4

by cloging fish gills due to @

aluminium (f‘?ﬁl (D) mercury d// (C) chromi O@’@ (B) lead (A
0@ -‘agfbd-‘(r o U 5

allof these (¥ - (D) vitamin K /¢ ( @min Egt: (B) vitaminA gt (A

5. Which is a fat soluble vitamin?

6. Deficiency of vitamin D causes disease @ -q_ax&"ud;kgc,fJ Sl -6
scurvy (B) rickets ¢ t:-JL/r (A)
night blindness JEkest (D) anemia in babies LU (C)

7. Dehydration of alcohols is ¢ d out with ?q.alggfivégﬂﬂ/}ﬂd 5&”:5' o 4
HCI o) H,50, (©) KOH ®) NaOH (A)

8. Pitch is a black residue of ¥ ioiion eudn & -8

Coalgas ?Jf (D) Coal J (C) Coaltar &S (B) Coke & (A)

9. Which one of the following is a Lewis base? ?‘GUfJ!:,L}):{QQ:J. 3l -9

AICI, (D) ot ©) BE, (B) NH, ()

= 1s is used as drying agent for gases. -‘grndu&uz’.l.@us HRA ... 210
Na,SiO, (D) CaO  (C) NaCl (B) CaCo,  (a)

11. When the magnitude of K_is very large it indicates -9'3)}%', Fmbies 2§ K, = -1
reaction mixture consists of almost all products -c‘_fp{ JU/;,{ (G[ﬁ /"“/;‘r yfgi S (A
reacfion mixture consists of almost all reactants Ci—g);y{d;;g’dJ (V'[_c )’./:( ut": g, (B)
reaction has not gone to completion -'mﬂ‘f);f' S (©)
reaction mixture has negligible products - :zru"fw(( oA /;( u"{ld/ (D)

12. Guldberg and Waage put forward the law of mass action in -l_/g?- uig I ST fUL..f sl Sk 12

J »1889AD (D) ~ »1879AD (C) J~ » 1869 AD (B) < »1859AD (A)
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Roll No. Annual 201¢

Chemistry (New Scheme) (ﬂvu‘l.( « IT :—/Edﬁ&?) (('-F £) ‘5/"
Paper : IT (Group: IT) ( Academic Session 2015 - 2017 ) (.,,/ lo) (II: .g/)
Marks : 48 Subjective arC)) 48

Time : 1:45 Hours ~ SWL- 42/{0’-(% 21450 S

/u“iéul."f (2)»:.-(3/&4}5[‘».1’.4.6105,):‘ o 2y
Note : Section | is compulsory. Attempt any Two questions from Section Il

(Section - | Jil..»)

2. Write short answers to any Five Parts : (5x2=10) -’éw&li/f’ﬁrl?létc—df -2
i. Define static equilibrium . Give an example. & -)JVM 23! ’f J/‘J [ /J:f I i
ii. Write two characteristics of irreversible chemical reaction. -J.,L:f’ ) d u’( S f‘! JET 4o i
i. If ©.<K, then predict the direction of chemical reaction. -idz’ J./J u"cldl 230, < Kcﬂ il
iv. Write the formula of Aluminium hydroxide. & s ST v
v. Write two uses of calcium hydroxide. o £ ST !uy;(u v
vi. Define hyperacidity. _Z: - /‘J(,f_ MG\ i
vii. Define acid and base according to Lewis concept. E S s AL L i
vii. How are salts prepared by the reaction of acid and metal? b LA S e 1§ LS 41 i vii
3.  Write short answers to any Five Parts : (5x2=10) -’éw&&/ﬂédzlé&c.&f -3
i. Define structural formula and give an example. & Je s o - /‘U Urs§ V%//‘f -
ii. Write down the name and formulae of two heterocyclic compounds. 4‘%@» rt LJH&;‘Z@JV s -
iii. Define Isomerism. BEPS T i

iv. Write two physical properties of Alkenes. OJ._.LJ;”J"’ ) J (Alkenes) /2)! -iv
% & L (Akanes) Al v

EEGLIILIT o e aSE i
e U*E YONA _vi

v. Write down two sources of Alkanes. @
vi. Differentiate between glucose and fructose with the h%} cture.

vii. What is the function of DNA?

viii. Differentiate between oil and fats. @ Ry 8- J? A ST _viii
4.  Write short answers to any Five (5x2=10) -'4‘:,.-41,:/‘?&12155;.8/ -4
i. Write two effects of global w: el LBl i
i. What do you mean by poliutants? e e B
iii. What is Ozone? SeWussl i
iv. Differentiate between soft and hard water. -é OAL M S sl Sy v
v. Why are pesticides used? ?g_rngédb;fl uz( B (PR R
vi. What is meant by minerals? Seslpe P v
vii. Define Smelting. : ZfJ/‘U..‘CV ~vii
viii. Write any two fractions of residual oil. LZE A 8IS ST Jidas i

(Section -1, - ¢ &)

(Each question carries Nine (5 + 4 = 9 ) marks F(5+4=9) 9 iy,

5.(a) Derive equilibrium constant expression for a -é}lgﬁﬁg S DK e S & Jg{ o g Akl (a)-5
general reversible chemical reaction.

(b) Write four specific characteristics of bases. . -’cf: g/i-,ga/"&"‘ A:J (UrtDz  (b)
6.(a) Write down five physical properties of Alkanes. -é_{ f.-. ga:"'d-" ég J (Alkanes) /7' (a)-6
(b) Write a note on monosaccharides. -éx/:.) /Jbl;:’r (b)
7.(a) Whatis fractional distillation? Describe fractional L J/J,,- \‘c.):/wc,ﬁ“',d’{/ (@)-7

distillation of petroleum .
(b) Wateris a universal solvent. Explain it. et Sy 3 SEE sy (b)
116 - 218 - 21000



